
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Children’s Picnic Table 
ASSEMBLY MANUAL 

 

Copyright © 2011 PlayNation Play Systems, Inc. 
All Rights Reserved 

 
PlayNation Play Systems, Inc.   �   190 Etowah Industrial Court   �   Canton, GA 30114   �    (800) 661-7295 
 

Latest Revision: September 8, 2011 
 



2

5

6

7

8

9

1

4

3

USE THE RULER TO THE RIGHT TO MEASURE YOUR BOLTS AND SCREWS.  PICTURE VIEWS SHOWN 
ABOVE ARE 1:1 SCALE AND CAN BE USED TO MATCH BOLT AND SCREW SIZES.

5/16" WASHER
QTY:  12

5/16" T-NUT
QTY:  12

#8 X 2"
WOOD SCREW

QTY:  48

5/16 X 2-1/4"
HEX BOLT
QTY:  12



SEAT SUPPORT

 

TABLE LEG 42 X 4 X 21-1/4"

TABLE STRINGER 12 X 4 X 21-1/2"

ANGLE SUPPORT 22 X 4 X 21-1/2"

TOP LEG SUPPORT

1

22 X 4 X 21-1/2"

SUPPORT

2 X 4 X 42"
CENTER LEG

2 X 4 X 42" 2

DESCRIPTIONPICTURE QTY.



1UMBRELLA 
ASSEMBLY

45/4 X 4 X 48"
TABLE TOP

15/4 X 4 X 48"
CENTER TABLE 
TOP

22 X 6 X 48"
TABLE SEAT

DESCRIPTIONPICTURE QTY.



STEP 1:  LEG ASSEMBLY
1:  FIND TWO 2 X 4 X 21-1/4" TABLE LEGS.  NOTE THE HOLE PATTERN ON THE LEGS AND POSITION 
THEM SO THAT THE END WITH ONE HOLE WILL BE AT THE TOP.  THE ORIENTATION OF THE LEGS 
SHOULD LOOK LIKE THE SIDES OF THE LETTER "A".

2:  DETERMINE WHICH SIDE WILL BE FACING THE INSIDE OF THE TABLE AND PLACE A T-NUT IN 
EACH OF THE HOLES.  SET THE T-NUTS WITH A HAMMER UNTIL THEY ARE FLUSH/ALMOST FLUSH 
WITH THE FACE OF THE BOARD.

3:  FIND A 2 X 4 X 21-1/2" TOP LEG SUPPORT BOARD AND LINE UP THE HOLES WITH THE HOLES AT 
THE TOP OF THE TABLE LEGS AND FASTEN WITH 5/16 X 2-1/4" HEX BOLTS AND 5/16" WASHERS.

4:  FIND A 2 X 4 X 42" SEAT SUPPORT AND LINE UP THE HOLES IN THE SEAT SUPPORT WITH THE 
HOLES IN THE TABLE LEGS.  FASTEN THE SEAT SUPPORT TO THE TABLE LEGS WITH 5/16 X 2-1/4" HEX 
BOLTS AND 5/16" WASHERS.

5:  REPEAT THIS PROCESS TO CREATE ANOTHER SET OF LEGS FOR THE OTHER SIDE OF THE TABLE.

SEAT SUPPORT

5/16" WASHER

T-NUT

5/16 X 2-1/4"

2 X 4 X 21-1/2"
TOP LEG SUPPORT

2 X 4 X 42"

HEX BOLT

2 X 4 X 21-1/4"
TABLE LEG



CENTER LEG SUPPORT
2 X 4 X 42"

2" WOOD SCREW

STEP 2:  CENTER LEG SUPPORT
1:  FIND THE 2 X 4 X 42" CENTER LEG SUPPORT.  TAKE NOTE OF THE TWO HOLES DRILLED IN EACH 
END OF THE BOARD.

2:  CENTER THE BOARD UNDERNEATH THE SEAT SUPPORTS OF THE LEG ASSEMBLIES CREATED IN 
THE PREVIOUS STEP AND ATTACH WITH 2" WOOD SCREWS IN THE PRE-DRILLED HOLES.



STEP 3:  TABLE TOP
1:  FIND ONE 5/4 X 5 X 48" CENTER TABLE TOP BOARD AND FOUR 5/4 X 5 X 48" TABLE TOP 
BOARDS.  THE CENTER BOARD WILL HAVE A HOLE DRILLED ON-CENTER IN THE MIDDLE OF THE 
BOARD, AND ALL OF THE BOARDS WILL HAVE PRE-DRILLED HOLES IN EACH END.

2:  CENTER THE CENTER TABLE TOP BOARD ON THE TOP LEG SUPPORTS AND ATTACH WITH 2" 
WOOD SCREWS IN THE PRE-DRILLED HOLES.

3:  PLACE THE FOUR TABLE TOP BOARDS ON TOP OF THE TOP LEG SUPPORTS AND SPACE THEM 
EVENLY SO THAT THE BOARDS AT THE END OF THE TABLE TOP ARE FLUSH TO THE ENDS OF THE 
TOP LEG SUPPORT AND ATTACH WITH 2" WOOD SCREWS IN THE PRE-DRILLED HOLES. 

CENTER TABLE TOP

TABLE TOP
5/4 X 5 X 48"

5/4 X 5 X 48"

2" WOOD SCREW



2 X 4 X 21-1/2"
TABLE STRINGER

1:  FIND THE 2 X 4 X 21-1/2" TABLE STRINGER.  NOTE THE ANGLED ENDS OF THE BOARD, AND THE 
HOLE IN THE CENTER.

2:  POSITION THE TABLE STRINGER SO THAT THE HOLE IN THE CENTER OF THE BOARD LINES UP WITH 
THE HOLE IN THE CENTER OF THE PICNIC TABLE, AND THE ANGLED ENDS ARE FACING DOWN.

3:  FROM THE TABLE TOP, ATTACH THE TABLE STRINGER WITH TWO 2" WOOD SCREWS PER BOARD.

STEP 4:  TABLE STRINGER



STEP 5:  ANGLE SUPPORTS
1:  FIND THE TWO 2 X 4 X 21-1/2" ANGLE SUPPORTS.  NOTE THE ANGLED ENDS OF THE BOARDS.

2:  POSITION THE ANGLE SUPPORTS SO THAT THE LONG ANGLED END OF THE BOARD IS RESTING 
AGAINST THE BOTTOM OF THE TABLE, AND THE SHORT END IS RESTIND ON THE CENTER LEG 
SUPPORT.  THE OTHER ANGLED END WILL REST AGAINST THE SEAT SUPPORT, CENTERED ON THE 
TWO PRE-DRILLED HOLES IN THE SEAT SUPPORT.

3:  USE 2" WOOD SCREWS IN THE PRE-DRILLED HOLES ON THE LONG ANGLED END OF THE BOARD, 
AND THE SEAT SUPPORT.

2" WOOD SCREW

2 X 4 X 21-1/2"
ANGLE SUPPORT



1:  FIND THE 2 X 6 X 48" TABLE SEATS.  NOTE THE PRE-DRILLED HOLES ON EACH END.

2:  CENTER THE SEATS AT THE ENDS OF THE SEAT SUPPORTS AND ATTACH WITH 2" WOOD SCREWS 
IN THE PRE-DRILLED HOLES.

STEP 6:  SEATS

TABLE SEAT
2 X 6 X 48"

2" WOOD SCREW



1:  ASSEMBLE THE UMBRELLA AND PLACE THE POST THROUGH THE HOLE IN THE CENTER OF THE 
PICNIC TABLE, AND THROUGH THE HOLE IN THE CENTER LEG SUPPORT.

STEP 7:  UMBRELLA


	FLW Picnic Table Cover
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	Children’s Picnic Table 
	ASSEMBLY MANUAL 

	FLW Picnic Table HARDWARE
	FLW Picnic Table CONTENTS
	FLW Picnic Table - 01
	FLW Picnic Table - 02
	FLW Picnic Table - 03
	FLW Picnic Table - 04
	FLW Picnic Table - 05
	FLW Picnic Table - 06
	FLW Picnic Table - 07

